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PART 1
1 x> =5x—4
x> —5x+4=0
(x=-4)(x-1)=0
x=4or x=1

x> -3x-3=0
33 403
2(1)
XzsiJﬂ
2
x=379 or x=-0,79
3 X(x—4)=5
x> —4x-5=0
(x=5)((x+1)=0
X=50rx=-1

4 4x* -20x+1=0

- —(C20)£(-20)° ~4(4)®
2(4)
Xzzoidﬁﬁ
8
x=495 or x=0,05
5 x(x —1) =30
x> —x =30
x> —x-30=0
(x-6)(x+5)=0
X=6 or x=-5
6 3x*-5x+1=0
a=3b=-5¢c¢=1
L —(-5)25-4@)
2(3)

5+413
6
x=14 or x=0,2




PART 2

3x+£:4
X

3x?—4x+1=0
Bx-Y(x-1=0

X= or x=1

3
5

T3 —2
~3x2-2x—-5=0

2~ Bx=5x+1)=0
wx=>orofx = —1

3—x<2x2
—2x%2 —x+3<0

2x2 4 x-3>0
2x+3)(x-1) >0 + +

x<—g or x>1 =3 1
OR

3
X e (—oo;—E) U (L 0)

—9x? +15x—-4<0
9x%*—15x+4>0

v

(3x—4)(3x-1)>0

9 =
< T

1

3

w| ploO
Wl

1 4
X<= Oor X>—
3

Answer can be given as: Xe (— 0 ; ﬂ U (ﬂ ; oo\

3 3

w| s



445X >6X° —6X*+5x+4>0

0> 6x> —5x—4 OR  6x’-5x-4<0
0>(3x—-4)(2x+1) (Bx-4)(2x+1)<0
o 5++/121
critical values: X=————
12
|
X=—— or —
2 3

—l<x<i OR Xe —l;i OR —l<x and x<i
2 3 2°3 2 3

4%* +1>5x
4x* —5x+1>0
(4x—1)x-1)=0

-bl’—‘ )

|

1o

+
-lklr—‘/
<_\

XSl or x>1 OR (—oo;l}u[l;oo)
4 4

x> +7x-8<0
(x+8)(x-1)<0

(x+1D)(x-3)>12
X*—2x-3>12
x> —2x-15>0
(X=5)(x+3)>0

X<-=3 or X>5



(x+1)(x-4)<0
+ 0 - 0 + \ /
or
4

-1<x<4

(x+2)(x-3)<-3x+2
X —x-6+3x-2<0
x> +2x-8<0
(x+4)x-2)<0

+ 0 - 0 + \ /
or
2

-4 <x<?

X2 +2x-8<0

-4 <x<2

Sum of integers = (= 3)+ (- 2)+(=1)+(0)+ (1)
-5
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PART 3

2-3=81-3

2-3+3"

=81
3'(2+1)=

81

=27

3X

X =

9.2
32 2x—1

3

=23"
=2.3"

3x2

C2xtl=x-1

2x+1=(x—1)

2

2x+1=x"-2x+1
x*—4x=0
x(x—4)=0

27x2+x —

(33)x2+x —

x=0 or x=4
nla

33%* x 9
33 x 32

33x%43x — 33x7 y 32
~3x% +3x =3x2+42



PART 4

bmzx—l
2x+1=(x-1)
2x+1=x-2x+1
x*—4x=0
x(x—4):0
x=0 or x=4
2 2x—32/2x—3
4%% —12x+9=2x-3
4x% —14x+12=0 OR
2(2x-3)x-2)=0

x:éor X=2

2

3 2/x-3=x-3
4(x—3) = x* —6x+9
x> -10x+21=0
(x-7)x-3)=0
Xx=70r x=3
OR
Let y:m
.'.2y:y2
y(y-2)=0
y=0o0r y=2
X-3=0o0r x-3=4
x=3or x=7

x’=12x+36=x
x*=13x+36=0
(x——4)(x——9):ﬂ
x=40f x=9

s x =9 alleenlik



PART 5
y =3-2X
X% +(3-2X) + x = (3—2x)?
X2 +3-2X+ X =9-12x + 4x°
3x* -11x+6=0
(Bx-2)(x-3)=0

2 y=x-3
X>—X=6+(x-3)
x> -2x-2=0
(x=3)(x+1) =0
x=3 or x=-1
y=0 or y=-4
Solutionsare (x;y)=(3;0) or (-1;-4)

3.1 X* +5xy+6y> =0
(x+3y)x+2y)=0
X+3y=0 +2y=0
X=-3y OR X=-2y
X_ 4 X_,
y y
3.2 X+y=38 X+y=38
-3y+y=28 -2y+y=38
-2y=8 OR -y=28
y=-4 y=-8



5.1

5.2

5.3

’ 310 _ 33x
x—10=3x
2x=-10

x=-5

¥ +x=20
y>=5=20

y* =25

y=-5 o y=5

X yono -5y +20

2*(1+2%) =-5y+20
_ —5y+20

2 5

OR
2" =-y+4

Ify=-4,

2"+ 2" =5y +20
2% + 2% = 40
2X(1+2%)=40

2x =8

2% =28

X=3

—y+4>0

y< 4

Largest integer value of y is 3

2" =-3+4
2" =1
x=0



PART 6

! x2+9=0
A=b? - 4ac
=02 - 4(1)(9)=-36<0
.. The roots are non — real
2.1 x2—3x+(k+1):0
For real roots : A>0

b2 —4ac>0
(-3)2 —4(W)(k +1) >0
9-4k—-4>0
—4k>-5
k<>
4
2.2 Put x =1 into equation:
12 -3 + (k +1) =0
k-1=0
s k=1
3 X2—px—p2:2
xz—px—p2—2:0
A=b?-4ac
=p*—4(-p* ~2)
= p2 +4p2 +8
=5p2 +8

>8>0 for all values of p.
.. The roots are real and unequal
4 A = 2k(2k —9)
For k=6:
A=(12)3) =36
which is a perfect square

.. The roots are real, rational and unequal



5

x=51s die wortel van

i x ke -15=0

L5 45k -15=0= 2545k -15=0
Sk=-10

k==2

St =20-15=(

(x+3)x-5)=0

x==3 of x=5

", die ander wortel is - 3.

f0=3" ~6x+m
S (x) = 0 het nie-reéle wortels as
A<

b* ~4ac <0

(—6]3 —4(3)(m) <0
-12m <-36
Lm>3

f(x)zx2 -5x+c¢

L V25 -4(1)c)

2

25-4c =41
—4c=16
c=-4

10



8.1

8.2

9.1

9.2

5x2+6x-7=0

‘e —b++b* —4ac
2a
_—654(6) - 4(5)-7)
2(5)

=073 or -193

S5x’ 1 6x—-d =0

‘e —b++b* —4dac
2a
_—654(6) —4(5)-a)
B 2(5)
36+20d =0
9

d=->
5

OR/OF  Forequal roots/ vir gelyke wortels

A=b*—4ac
=(6)° ~4(5)-4)
36+20d =0
d=—2
5
2p+5=0
2p+5=0
2p=-5
5
2
2p+5<0
p<—§
2

A

11



PART 7

Therefore when x = 999 999 999 999, the value is
999 999 999 999 +2 =1 000 000 000 001.

OR
X2_4—(X+2)(X_2)—x+2
x-2  (x-2)

999 999 999 999 = 10" -1
X +2 =999 999 999 999 + 2
=107 +1

2xt +2=x*

axt==2
Which has no real solution since x* >0 forall xeR

J+ 7 =72
m+2Jmn +n=7++/48
m+2vmn+n=7+212
m+n=7
mn =12
(m+n)>=7°
m? +2mn + n* = 49
m®+n®=49-2mn
= 49-2(12)
=25

OR

12



Jm++4/n =47+/48
m+2Jmn+n=7+/48
m+2Jmn+n=7+212

m+n=7 and mn=12 arepossiblesolutions

m=7-n n=7-m
n(7-n)=12 m(7 —m) =12
n>—-7n+12=0 or m’-7m+12=0
(n-4)(n-3)=0 (m-=4)(m-3)=0
n=4 orn=3 m=4 orm=3
m=3 orm=4 n=3 orn=4

sm?+n?=3%+4?
=25

[102007 ] 1102

\/102007.104 _ \/102007

B 1041027
f102007 (\/W—l)

10

1001

10

99

52007 | 52010

52008 | 52009
52007, 52007 &3

- 52008 4 52008 &

~ 52007(1+53)

- 52008(1+5)

126

5%6

126

C 30

21

13
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8.1

8.2

Let the shortest side be X
Sides of the prism: X ; 2x ; 3X
Volume = Ibh
(X)(2x)(3x) =3 072
6x°> =3072

X’ =512
Xx=3/512
X=38

Let the amount of money Mary had be Rx/Laat die bedrag
geld wat Mary gehad het x wees.

lx:lx—ZS
5 3

3x+420 =5x
2x =420

x=210
Mary had R210/Mary het R210 gehad.

AC.(x—2)=x"+2x-8
AC.(x=2)=(x+4)(x-2)
AC=(x+4)cm

S~ FD=(x+4)cm
~ED=x+4-(x-2)
ED=6cm

14



